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SECTION A — (10 × 2 = 20 marks)
Answer any TEN questions
1. What is casual income?
2. Explain the deduction u/s 80DD.
3. What is meant by revised return?
4. What is PAN?
5. Find out inflated cost for assessment year 2016-17:
Cost of house purchased in 1979-80 for 		– `90,000
Fair market value on 1-4-81				- `1,50,000
C11 for 81-82 is 100; for 2015-16 is 1081.
6. A land is purchased in the year 1986-87 for `80,000. During the year 2015-16, it was sold for `80,00,000 . Calculate long term capital gain or loss. C11 for 86-87=140  2015-16=1081.
7. Mr. S invested `1,00,000 in 8% tax-free debenture of a company what will be his taxable interest for the previous year ending on 31.3.16 if the rate of TDS is 10%? Interest accrues on 1st day of January every year.
8. The following incomes are received by Miss. C during the assessment year 2016-17. Compute taxable income.
(i) Royalty on books (Expenses for the above books `5,000) - `30,000
(ii) Interest on post office savings bank  - `1,500
(iii) Cross word puzzle prizes - `2,500
9. Calculate total income of Mr. Suresh 
House property loss  		- `20,000
Long term capital loss 	- `10,000
Short term capital loss		- `50,000
Other sources income		- `25,000
10. Prakash is a resident individual. During the previous year 2015-16, he incurs the following expenditure – Medical treatment(Specified disease) of himself  `45,000. Amount reimbursed by insurance company `4,000. Amount reimbursed by employer `5,000. Find out the amount deductible.
11. Compute tax liability of Mr. Ranjith for the assessment year 2016-17, if his total income is `1,64,371.
12. Vijayan owns a house and it is let out on monthly rent of `40,000. It is transferred without adequate consideration on May 1, 2015 to his friend with a provision for the transfer of whole of the income to Vijayan annually. Decide about the person in whose hands the above rental income shall be taxable during the assessment year 2016-17.
 (
[P.T.O.]
)
 SECTION B — (5 × 5 = 25 marks)
 Answer any FIVE questions
13. What are deemed incomes?
14. What is best judgement assessment?
15. MR. Sachin purchased 100 equity shares (unlisted) of P Ltd in 1980 at `50/share. In Feb 1991, he offered 500 bonus shares. In March 2016, he sold the entire share holding at `500/share. He has paid 5% brokerage. Compute taxable capital gains for AY 2016-17. The FMV as on 1.4.1981 was `75/share.
16. Mr. Kannan owns horses at Bangalore and Delhi. The horses run in races at the respective race courses. During the year 2015-16, Mr. Kannan submits the following information:
(a)      Expenses on race horses at Bangalore 		`40,000
(b) Expenses on race horses at Delhi	 		`6,00,000
(c)      Stake money earned by horses
(i)  Bangalore						`5,00,000
(ii) Delhi							`3,00,000

(d) Mr. Kannan received `1,26,000 on betting during horse races at Bangalore
(e)      Kannan also received `49,000 as lottery winnings and from card games he earned `20,000 during the year.
Compute the income from other sources of Kannan for the AY 2016-17.
17. Master X (age 15yrs) received the following incomes during 2015-16.
     `
(a) Interest on company deposits						10,000
(b) Interest on bank deposits						12,000
(c) Interest on Govt. securities						15,000
(d) Interest on debentures							20,000
(e) Rental income of a plot received					40,000
(f) Income from singing concerts held by him			50,000
(g) Income by acting in a film					      1,00,000	
(h) His father’s total income					      2,00,000
(i) His mother’s total income					      2,02,000
Discuss whether income of Master X will be clubbed with his parent’s income.
18. Mr. Naren’s previous year’s gross total income is `4,50,000. He has made the following donations. Calculate his net income.
(a) Jawaharlal Nehru Memorial fund				`12,000
(b) Rajiv Gandhi Foundation					`  8,000
(c) Africa fund								`15,000
(d) Indira Gandhi Memorial Fund				`14,000

19. Mr. X who is handicapped has the following information. Compute his taxable income:
`
(a) Salary (per annum)						    80,000
(b) Rent received (per annum)					1,00,000
(c) Dividend from a co-op society				      2,000
(d) Interest on bank deposits					      9,000
(e) Interest on Govt. securities					      4,000
(f) Winning from lotteries						    50,000	
(g) Long term capital gains on 
Sale of (unlisted) shares 					1,20,000
(h) LIC premium paid `15,000 (policy value `1,50,000)
SECTION C — (2 × 15 =30 marks)
Answer any TWO questions

20. Sri. Varadhan sells a residential house property in Madurai for `90,00,000 on May 20, 2015 which was purchased by him on April 25,1965 for `50,000.  The FMV on 1st April 1981 was `2,00,000. He purchases a new residential house property for `10,00,000 on 28th March 2016 and the house is not fully constructed and deposited `5,00,000 on July 31st,2016 (being the last date for furnishing return of income for AY 2016-17) in a bank account specified for the purpose of sec 54.
Assuming that Sri.Varadhan withdraws from the deposit account and completes the construction of a house property on Jan 2017, for `4, 00,000,  with drew the unutilized amount in the deposit account after May 20,2018, compute the amount of capital gains chargeable to tax. C11 for 81-82 is 100 and 2015-16 is 1081.
21. Sri  Mukunda furnishes the following particulars of his income for the P.Y 2015-16. Compute his total income.
Sri Mukunda purchases diamonds for `8 lacs(FMV is `8.5 lacs) . He further purchases an art work for `9 lacs(FMV is `9.5 lacs)
													`
(a) Dividend on equity shares (gross)						         600
(b) Dividend on preference shares(net)					     3,580
(c) Income from letting on hire of building
and Machinery- composite lease						   17,000
(d) Interest on bank deposits							   10,000  
(e) Directors sitting fees								     2,500  
(f) Ground rent									        600
(g) Income from disclosed sources						   10,000
(h) Income from lotteries								   10,000
(i) Mukunda owned a land at Chennai. It was acquitted by the government in 2011-12. Along with compensation `1,40,000 is payable by government for late payment of compensation. The interest is received during 2015-16.
The following deductions are claimed by him:
(i) Collection charges of dividend `20
(ii) Allowable depreciation on buildings and machinery `4,000.
(iii)  (
[P.T.O.]
)Insurance on building and machinery `100.

22. Krishnamoorthy, born on 5-1-1975 has the following information:
													`
Salary income 										  1,00,000
Rent from house (per annum)							     58,000
Municipal taxes paid during the year 						       6,000
STCG on sale of listed equity shares on 1.9.15(subject to STT)		       5,000
LTCG on sale of gold									  2,50,000
Winnings from lottery (Gross)							     50,000
Interest on bank deposits								       6,000
Interest  on Govt securities								       2,000
Interest on debentures of a listed CO						     14,000
Deposit in PPF A/C									     90,000
Insurance premium on own life(sum assured  `2, 00,000)			     20,000
Cross word puzzle winnings 								     80,000
Compute the net tax payable by Mr. Krishnamoorthy for the AY 2016-17.
23. Mrs.Hema furnishes the following particulars of her income for the AY 2016-17
												  	  `
Salary from Aristocracy Pot Ltd(computed)					      50,000
Dividends on TISCO shares (gross)						        1,500
Interest on securities (gross)								        7,500
Interest on fixed deposits in SBI							        3,200
Profits from agency business								      10,000
Loss from speculation in shares							      20,000
Profits from speculation in Silver							        9,000
Loss from short term capital assets							        5,000
First prize from Kerala State Lottery						   1,00,000
Gains from playing bridge in the club						        5,500
Gains from playing Rummy in the office				  	        1,000
Loss in flash (card game) with friends						        7,000
Maharashtra State Lottery tickets bought					      10,000
Loss in race course on betting 							      20,000
Expenditure in maintaining race horse						      40,000
State money received in respect of the horses					      90,000
     You are required to compute the Gross Total Income for the relevant assessment year.
———————
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